1996 7h524%

AL No 1257 R % IR K4 HERTIR - | Fikb
id 1 |7—Fz)— |EA k=4 w2 |fR —ZE =RE 37
14 2 |BELFEE  |200m 2] T52  |@A FE3A RIRHD 26

3 |FELFEEE &R -2 F10  |RI& &5 RIRHD 32

4 |BELEHE |*IVY 2] T10  |[#Il HE EER 40

5 |FELEFEE  |100m &z | T132-33 |FEH OYF FER 22

6 [BELZEHE  [800m k=4 T51 |HEf BR AHEM 37

7 |BEREFEE [5000mAALMSATIL | B | CPDiv2 |/MIl BEE RIRHD 30

8 |&&E T1kgfk g 4+E ZER BER 46

9 [®E 65kgiR 3 =% Ny EER 20

10 |7Kik 50m B B 2 B1 AE fli— R 21

11 7Kk 100m B B2 8 B1 AE fi— R 21

12 |Kik 50m E B2 z S4 RCH EHE g 25

13 |7Kik 100m B B z S4 FH EHE g 25

14 |Kik 50mFkE z SB3 |RIR #2F f& R 28

iR AR ——% =RE 37
10 1 |[7—FzU— [ER T | AT |kB EF FLig 37
NG f& R 43

2 |BELEEER  |ZYIVY 3 T52-53 |Z=E —th dtimE 31

3 [BELFEE  [100m 8 T52  |#A FESL R 26

4 |BELFE [200m #Z | T32-33 |FH DYF FER 23

5 |BEELEEE  |10000m % | T52-53 |4 F0 AT 27

6 |ELEER |YIVUY %z | T52-53 [f #0 AT 27

7 |RE 60kgik 5 HE B EER 25

8 |/Kik 100m & ik E B B1 AE fli— R 21

9 |k 50m¥ ikE = S4 RH EHE g 25

10 |7kik 200m B A% z S4 RH EHE g 25

£ 1 |7—Fz)— |[EA 3 W1 E— BER 40
13 aE =+ =58 53
2 |7—Fz)— |EH® B ST |&H B— REDRT 50

£k X HFHR 57

3 |BELFEE |ESB B8 F10-11 |[RIR #3 BRIRHD 33

4 |BELFE  |5000m Z | T52-53 |4 F0 fET 27

5 |BEEZERK |1500mB1LSATIL | B | CPDiv2 |/MIl EE BRIRHD 30

6 |BEREFEE [5000mBALNSATIL | B | CPDiv3 |FIH HAAR kR 30

7 |RE 95kg A HR 5 =18 A mER 28

8  [Kik 50mB B 3 sS4 |BEKREE BRIRHD 20

9 |k 100m BB 3 sS4 |BEKREE BRIRHD 20

10 |7Kik 200m{E A ARFL— 3 B1 A& fli— BRIRHD 21

11 |Kik 150mfE A ARL— k4 SM4 |RKH EfH%E NG5 25

12 |EEBk PN 3 8 K fg— PN 25

13 |EHEk & A = 9 ZREFR EER 47




